107

LA

WX SRR LR E o,

® b=t -2y

® 2y+?:?—2y

® - Sx-g-—t+I,
s

©) —Lsﬁ—%:%-f—%s

PR

O s

©@ 2x+%:2_2x

® —%x+?=—%+%x
%x-ﬁ-%:_i_,_ix

/14




107

LA

B ROFTEREME X v,

iiidic 15 5 T
—6x—5 =10—9«x
3x =15

2 2 4 1
@

VX T =T —/—X

3 9 9 6
WA 18 % 221 T
12x—4 = 8+3x
Ix =12

2 8
A 8 & AT
2x—4 = —16+5x
—3x = —12
1 1 1 2
O gy 3
Wi 12 22813 T
3n—4 =3—8n
1ln =7
1 3
+—=""_2
® 2y+3 g Y

WA 8 &2 )T
16y+1 = 3—16y
32y =2

Wi 12 % 221 T
—9x—2 =5+2x
—1lx =7

1 4 1 1

S X T T T T T T T X

2 9 2 2

Wi 18 # 21 T
9x+8 = —9—9x

18x = —17

1 2 1 5
25 T Ty Tt
I 14 % A1 C
—7s+4 = 7455
—12s =3

2 5 7 1
— :__J’__
3 9F* 9 18~
Mic 18 % 4513 C
12—10x = —14+x
—11x = —26
1, r 1 5
2 "4 YT

W0 12 % 221 T
—6+3a = 6—10a
13a =12

3
2x+T:2—2x

W 4 Z 2 1F T
8x+3 =8—8x
l6x =5

3 1 5 3

4 X773 12 a4~

fiidic 12 % 22 €
—9x+4 = —5+9x
—18x = —9

WA 16 %21 T
3x+12 = —10+6x
—3x = —22

/14

17
18

26
11

12
13




